a)  
      (x+4)/(x-3)=5
     5(x-3)=x+4
     5x-15-x=4
      4x=19
        x=19/4
       x=4  ¾

b)  
     (1/x)+(2/x-2)=0
     (x-2+2x)/[x(x-2)]=0                      x(x-2)≠0
      x-2+2x=0                                      x≠0; x-2≠0
      3x=2                                                         x≠2
        x=⅔                                            D=R\{0;2}
 


c)  (x-2)\(x²-4)=0                                x²-4≠0
     (x-2)\(x-2)(x+2)=0                       (x-2)(x+2)≠0
      1\(x+2)=0                                    x≠2  ;  x≠-2
        1=0                                            D=R\{-2;2}
       brak rozwiązania
